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1. (10 points) Using Lagrange multipliers, find the extrema of the

. (20 points) Find the area between two parabolas y = z? and

. (20 points) Find a power series for f(z) = $22 with radius of
4 H

. (20 points) Let A= {1 2 1 |. Find an invertible matrix S and

. (20 points) Let A, B be 2 x 2 matrices. Assume that

function 11zy + 14yz + 1522 under the condition zyz = 147840.
y=(z—-12%0<z<3

convergence [?, and using the first three terms of this power series
) 1 g
to estimate the value of [, #22dz.

(10 points) Let T : R* — R? be a linear map satisfying
T((_la 2)) s (_-23 1: 0) and T((B: '_'5)) = (53 —7, 1)1 find T((_4? 3))
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a diagonal matrix A such that S7!AS = A. Apply this formula
to compute A°.

det(A) = 2, det(B) = —4, Find det(34), det(ABA), det(A?B)
and det((AB)T).
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